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QUESTION 1

A VSP G800 customer has one HDT pool with three tiers and they report a high frequency of relocations up and down
between Tier 1 and Tier 2, affecting the HDT pool performance. 

Which two actions will help solve the issue? (Choose two.) 

A. Decrease the monitoring period of the HDT pool. 

B. Increase the size of the grey zone between Tier 1 and Tier 2. 

C. Change the HDT pool setting from Period mode to Continuous mode. 

D. Increase the size of Tier 2. 

Correct Answer: CD 

 

QUESTION 2

A VSP G800 HDT pool contains FMDs, NL-SAS drives, external storage with 15K 600 GB SAS drives, and external
storage with 10K 900 GB SAS drives. 

Which tier level contains the NL-SAS drives in this configuration? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: A 

 

QUESTION 3

A high level of writes to external storage is backing up into a VSP G1000 cache, creating a high write pending problem
that is affecting other workloads. 

Which three actions will help to minimize this problem? (Choose three.) 

A. Add more cache to the enterprise storage system. 

B. Add more cache in the external storage. 

C. Quarantine the LUNs in a separate cache partition. 

D. Set Cache Mode to "Disabled" for the external LUNs. 

E. Address the throughput constraints in the external storage. 
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Correct Answer: ABD 

 

QUESTION 4

When testing an external LUN with default mapping on two paths, performance appears constrained and the utilization
of the RAID group in the external storage system never exceeds 35% busy no matter how many test threads are
generated. You want to increase the utilization of the external RAID group. 

Which two actions will accomplish this task? (Choose two.) 

A. Increase the external path LUN queue depth setting. 

B. Increase the number of LUNs mapped from the external RAID group. 

C. Change Cache Mode to "Disabled". 

D. Increase the server HBA LUN queue depth to 64. 

Correct Answer: AC 

 

QUESTION 5

A mission critical SQL server application that resides in a three-tier HDT pool is showing response time spikes that may
be related to I/O activity. 

Which three Hitachi Tuning Manager reports would you use to determine the problem? (Choose three.) 

A. IOPS by dataset. 

B. IOPS by V-Vol 

C. IOPS by pool 

D. IOPS by tier 

E. IOPS by parity group 

Correct Answer: CDE 
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